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MATHEMATICS TR
1. The area of circle whose circumference is equal‘ 1L 39 g Pl @I;'q?ﬁ THT g f;ﬁ:ﬁ aRfY,
to the perimeter of a square of side 11 cm is 11 cm YSIT 4T CRICES .
(A) 154 cm? (B) 144 cm? (A 154 cm? (8) 144 cm
© 124 cm? (D) 134 cm? (© 124 cm? (d) 134 cm?

2. The earth makes a complete rotation about its |2 G4} GFFﬁ & W gAd §Y UH IR T
axis in 24 h. What angle will it turnin 3 h 20| &9 # 24 H9¢ &'l €, o 9€ 3 gy

minutes ? 20 e & fdam agl“l E!ﬁ'"?
(A) 50° (8) 120° (A) 50° (8) 120°
(© 130° (D) None of these (© 130° (D) HE T8l
3 tan 3A -tan 2A .tan Ais equal to 3 tan 3A - tan 2A . tan A §XI§Y ®
(A) tan3A-tan2A-tan A (A) tan 3A - tan 2A - tan A
(8) tan3A +tan 2A +tan A (B) tan 3A + tan 2A + tan A
(O tan3A-tan2A-tan A (© tan 3A . tan 2A - tan A
(D) None of these ) 379 q T T8l
*  If the ratio of volumes of two spheresis 1: 8,4 Ify a1 el & AT H 1 ;8 Bl
then the ratio of their surface areas is FING B, A STF ap y& H T
A) 1:6 (8)1:2 BRI -
@1:24 (D)1:8 (A) 1:8 (8) 1: 2
© 1:4 ) 1: g
5 The value of 5. 15
15 _ V10 + /20 + 20 - 5 — 8o
v10 + 20 + V40 - 5 - V80 H A ® -
W VE(5+v2) ® V3(3+v2) W VEE+v2) ®  V3(3+v2)
@ V5(14+v2) ® V5(2++2) ©  V5(1+v2) ® V5(2 + v2)

(I



The volume of cylinder is 448 m cm? and

height 7 cm. Then its lateral surface area is
(A) None of these (8) 252 cm?

© 352 m? (®) 259 cm?

The value of ¢0s20° cos70° — sin20°

sin 70°

(A) 1 (8) 0

(C) o (D) None of these
il 729 |

The value of I is
\/ 0.4096

(A) None of these (B) 5.652

(C) 5.265 (D) 5.625

If V3x —2 = 243 + 4, then the value of x

is

W 1.3 ® 2(1+ v3)
@ 21- V3) ) 13
The value of i) is

\jl—sinr

"

(A) secx —tanx (B) secx + tanx

O secx -tanx (D) tan x — secx

If side of cube is 6 cm, then the diagonal of

6.

10.

Uh g dad @ fgad
448ﬂcm33ﬂ-\rﬁm7cm ?LT‘I‘I'W

q% U5 1 BN ?

W g T ) 252 cm?
© 352 cm? (®) 259 ¢m?2
cos 20° cos70° —  sin20°
sin70° Froea-

(A) 1 (8) o

(€ o O) =9 A P &l
3| 729 1 wm @

\ 0.4096

(A 378 I PIS TE (B) 5652

() 5.265 (D) 5.625

;M Bx—2=2V3+4 W x BTN &

LRSI ® 2(1+ V3)
@ 201~ V3) © 3 _ V3
Jl+sinx HT 9H9 %- B

1-sinx

(Alsec x — tan x (B)sec x + tan x

(Osecx -tanx (D)tan x — secx

ufe ' P g 6 W & A "H @

cube is fawot '%

(&) 3y2 em ®) 2v3cm A 32 cm B 2V3cem

© 6vV2em ) ¢vV3cm ©  6V2cem 0 63 cm
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_ _a3
Iftan (A + B) = \ 3 and cos (A - B) - — the
values of A and B are
(A) 60° 30 8 40° 20°
© 15° 3¢ () 45° 15¢
© Thefactorof (34h% — 16c4)is
g 5p" = 7 (ab- 2¢)(ab + 2¢)
®) o' — &™) @b+ ab+ &)
O 2% « & (ab+ 20)(ab- 2¢
2% — 4c%) (ab+ 2¢)°
he value of tar 157 4s
A T wy = (B) 1
2V3
g 2 =
= ™ 2-43
Rav can

80 % of a2 work in 12 days. In how
many days Rav can finish the % work ?
&) None of these

10 £ gays

() 7 days
(D) 6 days

e Fnd the valuye ofcompiememary angle of 75°
&) g5 (B) 45¢

@ 30 o) 15¢

[T —

14.

af tan (A + B) = /3 9N cos (A -

2
{“] 60‘5' 30° tB] 400, 20C
© 15°,30° )  45°15°

(a*b* — 16C4)$ UgEvs g

(A)4(a’b® + c?) (ab— 2c)(ab+ 2¢)
(8) (a’b? — 4c?)? (ab + 2¢)(ab + 4c¢)
(© (a’b? + 4c?) (ab+ 2c)(ab—- 2¢)
(®)(a’b? - 4¢?) (ab+ 2c)?

tan15° BT 99 & _

@ 5.3 ® 1
2V3
B 2 © 3-43
V3

-?ﬁi%nmmuﬁq‘iﬁmmﬁl

Ay I oI F o B B Ry
&

msﬁﬁﬁ??ﬁw]?ﬁq

© 8 fagq

D) ¢ fagy
P 75 F P TE DT F7 7
(A) 85° (8) 45°
(C) 30¢° (D) 159
Page:qg e
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7 In figure £BAP = 80° and 2ZABC = 307, then
£AQC will be

(A) 65° (8)

110°

© 50° (D) 55° \

18. The value of expression
14 3 7.

log; - logg - log;is

(A) 1 (B) 3

©o (D) 2
e The compound interest on%¥ 24,000 |

compounded semi-annually for 1 % years at the |

rate of 10% per annum are

(A) T 3,780
) 73,774

(8) ¥ 3,583
(D) ¥ 3,783

L The value ofX“OG y—logz) ; Y{Ir:ig z—logx)

(log x - log v)js equal to

‘7. f ¥, ,pAp=g0° AR LABC=30%

£AQC T WA B

18, 14 3 7
—— —— Z P HM ¥ -
log P log e logi3| g
(A) 1
© o

(8) 3
(D) 2

19. ¥ 24,000 BT 10% dMPH & H X A
1§ﬁﬁﬂ.mﬁﬁmﬁ1ﬂ.mﬁm

iy BAEl 39 ST AT ' 2
(A) ¥ 3,780 (8) ¥ 3583
© T 3774 (0) ¥ 3,783

20. X(iog y - log z) " Y(Iog z-logx)

(logx—logy) §¥ER & -
x Z

x Z
(A) 3 (8) 1 (A) 3 (B) 1
(o (D) 5 € o (D) 5
|
|
|
|
|
Page: 5 354996
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21. The Quadratic equation, whose roots are

-l-+\_7and 4—\7
2 2
(A) 4x? +16x+9=0

is

(B) 4x°—16x—-9=0

(€ 4x°—16x+9=0

(D) 41> +16r—-9=0

22 The perpendicular distance between two

parallel lines 3x+4y—-6=0 and
6x -8y + 7 = Qisequalto

(A) 19/5 unit (B) 19/2 unit

(Q) 19/10 unit (D) 10/19 unit

if (1 - :) = /3, then the value of

[ 3+ %) will be
(A) 0 (B) 3(‘\f§+ 1)
(d) 3v3

2¢ Find eguation of line passing through the two

points (3,5)and (—4,2)
W 3xr-—7y+26=0

® 3x+7y+26=0
© 7xr -3y +26=0
@) 3x -7y +62=0

If points (5,5),(10,k) and (—5,1) are

collinear. Then the value of k is

21.

22

23.

24,

25,

4447

afy feum wlexr & A A
>

dr A7 @ ar Wl el -

2

(A) 4x2+16x+9=0

B) 4x2—-16x—9=0

(© 4x2-16x+9=0

(D) 4x2+16x—9=0

QA AR @RI 3x £ 4y —6 =0 IR

6x +8y +7 =0 F 99 o9 g0 &
(A) 19/5 unit
(© 19/10 unit

(B) 19/2 unit
(D) 10/19 ynit

PR & R 8 g T
® () -vER A+ )
B A BT -

(A o (B) 3(v3+1)
@ 3(v3-1) (D) 33

A Regelt (3,5) aiR (—4,2) ¥ Bax
S aTell Y BT wdeRer &

A 3x -7y +26=0
®  3x+7y+26=0
© 7x-3y+26=0
©  3x-7y+62=0
M RY (5,5),(10k) X (=5,1)

WE &, @ k7oA R

(A) 9 (8) 7 A) g ® 7
(0 6 (0) 8 © g (o) g
Page: 6 354996
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2% = 5Y = 107% then the value of

£ ; 1 1Yy,
L‘ T~ -+ —]Is
X z
(A) 3 (8) 5
{©o (D) -2
27. Two  straight lines 3x-2y=5 and

2x+ky+7=0 are perpendicular to each

other. The value of k is

A 3 (8) 3
2
o 4 o) 1
) 3
28 A train passes telegraph post in 40 seconds
moving at 2 rate of 36 km/h. Then the length of
the train is
(A) 500 m (B) 395 m
(O 400 m (D) 450 m
2 The volume of a cuboidis x3 — 7x + 6, then
the longest side of cuboid is
Al ¥ +3 (8) None of these
0 x-2 0 x-1
32 The HCF of two  polynomials

p(x)=4x*(x*-3x+2) and

qlx) = 12x(x - 2)(x* — 4) is 4x(x-2).
The LCM of polynomials is
(A 4x(x —2)

8 12x%(x? —3x+2)(x* +4)
© x2(x?-3x+2)(x*—-4)
0 12x2(x* —3x +2) (x* - 4)

(3 it l)arr R -
X h | r 1
(A) 3 (8) 5
© o (D) -2
S WA e 3x-2y=5 R

2v+ky+7=0 U TR | a9 & @ k

P AE ®

(A) (8) 3

(c) (D)

3
2
4
3

1
3

- T® YT faRt e dRe @ 40

AHvS H 36 km/h @ 9 ¥ IR FRR

g, ar YISt @ aEE ® -
(A) 500 m (B) 395 m
(€ 400 m (D) 450 m

- i B BT A”"AT 43 _ 7y 1 6 ©, a

A B qEH o o e -

A) x+3
®) 7§ P T
€ 22 D) y—1
W p(x) = 4x?(x* - 3x + 2)
IR q(x) = 12x(x - 2)(x* —4) ¥

HA.
(A)

dx(x -2) ¥ 9 B AW ¥ -
4x(x — 2)
8  12x2(x? —3x+2) (x* + 4)
©  x?(x?-3x+2)(x*-4)

O  12x2(x* =3x +2) (x* - 4)

i
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31 Iftan@ +sin@=mand tan B -sin @ =n. Then

the value of m* — nZis

(A) 4 mn ) mn

© 4ymn © 2ymn

32 A Verandah of area 9( m? is around a room

of length 15 m and breadth 12 m. The width of

the Verandah is

(A)1m (B) 25m
©2m (©)1.5m
ol 5,5 53 =572 _ 52+ 2 then the value of
ais
(A) 8 (8) 4
96 (D) 5

3 Use the following figure to find 5@ and yﬂ

W x=50°y = 30°

8 » = 305’}' = 50°
@ x =50y =60°
) x = 55°y = 65¢

31,

32.

33

afe tan 9+5in9=m3ﬁ'\’tane—
sineznﬁ.fﬁ m:—-—n:ﬁqﬁg
(A) 4 mn

©  4ymn ()

5 maod AR 2 m A TN & AR
AR 9o m? MG P (d Xl €, Al

8) Vmn

2vmn

R B e

(A 1 m (B) 25 m

© 2 m (D) 15 m

MW g \5x5PesHogtt2 T a @
A9 & -

(A) 8 (8) 4

© 6 ) 5

g g R H o AR o F A -

W x=50°y = 30°
(8  x=30°y=50°
@  x=50°y=60°

©)  x =55%y = 65°

i
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35 In the given figure, the value of /DEC is

(A) s55° (B) 75°

(C) 45¢ (D) o5°

3% Angles of a triangle are in ratio of 1 : 5 : 12,
biggest angle of this triangle is
(A) 9Q° (B 120°

@ 60° (0} 45°

The length of sides of a triangle are in the ratio
3:4:5 and its perimeter is 144 cm. The area
of triangle is

(A) 864 cm? () 764 cm?
© 664 cm? (0 684 cm?
% The solution of equation Yé - zyg = 151s
W 27,125 (8) 25,27
9 25 -27 (0) 125,-27

% A and B can do 2 piece of work in 72 days. B
and C in 120 days and A and C in 90 days. In
what time can A alone do it ?

5mwmﬁ.405cﬂmg—

(A)  sse (8) 75
(© a5 (D) 65
BTH A D BN B FEE 5 2B
A A BT 9T POT -
(A} 9Q° (8]  120°
@  60° (D)  45°
7. By @ Yol BT I 3 : 4 ;5 &

IR SUHT WRAT 144 cm B A SR
STBA T BT 2

(A} 864 cm? (B) 764 cm?

© 664 cm? (®) 684 cm?

yi—
(A 27,-125 (B) 25, 27
(c) 25,-27 (D) 125,-27

3. A AR B f&dt o™ o ey 72 R &
T WG € B AR C S &M & 120
oA # @ A 3R C, 90 foA ¥ W, @

(4) 60 days (8) 110 days Aaﬂwmaﬁ%ﬁﬁiaﬁm
A i B
() 55 days (0) 120 days (A) 60 ﬁ«"ﬁ w?r (8) 110 ﬁFﬁ_ :
(€ 55 & § (D) 120 faA1 &
i Page: 9 354996
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40

21,

&2

The value of sin 8 + cos(90 +8) + sin(180 - 8) + I 40.

sin (180 +8) is

(A) —1 (B) 0

(€)1 (D) 1

]
-

fA= 4y = i_thenthevalueof A+ i is

(A) None of these (8) X |
4x2 4+ 1
(© 1 0 4x?+1
4x3 4 x x

The L.C.M. of 121'2}-'323 and 18x4y223i5
A 21xyz B 36x*y3z3

@ 32x*yv7° ) 24xty?72

The value of log- ( : )is
= \1zs

(A) 5
@ -3

(B) 0
(D)3

Vertex of a triangle are (4, 6), (2,-2) and (0, 2),
then co-ordinates of its centroid must be
a) -2,2) (8) (2,3)

@ (12 D) (2, 2)

The median of the following data 25, 34, 31,
23,22,26,35,29,20,32is
(A) 29.5

41.

43.

sin 8+ cos(80 + @) + sin(180 - g) +
sin (180 + ) @ A © -
A —1 (B) 0

© 1 (@ 1

2

M A= gl A+i"ﬂqﬁ%—

(A) P T (B) *
4x2 + 1
© 1 (0) 4x2+1
4x3 + x x

4 12x2y3zz afr\r 18x4}r223 Dl d.9.1. 3‘ |

(A) 21xyz (B) 36xty3z3
© 32x%yz? (D) 24x%y?z2
1
— | dI A9 & -
logs (125) §
(A) 5 (8) 0
€ -3 () 3

i By & W & Prdeie @4, 6),
(2, -2) 3R (0, 2) & & TS FuF B
fdeie e
(A) (-2, 2)
© @ 2

(B) (2, 3)

D) (2, 2)

- e Siiwst B mftaer &

25, 34, 31, 23, 22, 26, 35, 29, 20, 32

(B) 27.5 (A) 295 (8) 275
0 305 D) 22,5 (© 30.5 (D) 225
- Page: 10 3549%
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The value of (_1‘ = I:\)

46

1—& l
;:ualto i | (A) 5 ;
LY 4o — —
x**+2x+—--8 | T T x
g @ 8
(8) 8 2 =
X3 _ _3 | x3
! (c) 8 (D) 8
(©) 8 () 8 £33 -
T x3 x?

47. The perimeter of an equilateral triangle whose | 47. IWaTg e @1 &F®ol 4v3 cm? 8 o

areais 4,/3 cm? is equal to ‘ s e
(A) 20 cm (8) 10 cm LA 20 W (8) 10 ¥
(© 12cm ©) 15 em BCEE (©) 15 it

< The sum of two numbers is 11 and their!‘i& Ifg < d=melt & I 4, 3R ST
product is 30, then the numbers are TAGA 30 a ar !T@IT& ahft
(A) 6,5 7,4 (A) 6, 5 (8) 7, 4

(€ 8,3 (D) 9,2 ‘ © g 3 () g 2

|

< |f7isthemeanof5, 3,05,45,3,85,9.5then |49. 5 3 0.5, 4.5, 3, 8.5, 9.5 & AY 7 ET,

the value of 2 is @ B AR
(&) 18 (8) 31 i
- A 8 (B) 31
() 49 (D) 12 ] (© 49 (D) 12
% i sinx=+sinx=1, then the value of iw- RIS sinx+sinfx=1, dl
cos’x + cos*xis | cos’x + cos*x @I A = ?
() 2 (8 0 Com 2 () o
(-1 o)1 (© -1 (D) 1
— — Pag:: 11 354996
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SECTION - I
PHYSICS

5 In a simple pendulum experiment, a student
calculate the value of g is9 9?2 m/s? but the

standard value of g is9.80 m/s? then the

percentage error in the calculation of g is
(A) 1.12% (B) 1.42%

©) 1.32% (D) 1.22%

- Inan L-C-R circuit, 100 volt alternating voltage
is applied between end points. In circuit
inductive reactance is XL = 20 ohm,
capacitance reactance is XC = 20 ohm and
resistance is of 5 ohm. The impedance of circuit

will be
{A) 15 ohm (B) 5 ohm
{C) 45 ohm (D) 20 ohm

Heat (in calorie) required to increase the
temperature from 10 °C to 20 °C of 6 kg

copper is same as heat (in calorie) required to
increase the temperature from 20 °C to

100 =C of 3 kg lead. If specific heat of copper is
0.08 then the specific heat of lead will be

(A) 0.033 (8) 0.055
(C) 0.044 (D) 0.022
5 The electric field strength at a point in an

electric field is 30 N/C. Find the force
experienced by a charge of 20 C at that point
(A) 300 N (B) 30N

(C) 20N (D) 600 N

—

WIS

am - I

s e

5. faklt B ERT TR dledd & TAT &
g AT ERT ‘g BT AM 992 m/s?
U Ear & | 9dfe g B WHERE A|
980m/s> & | A g AT F Gl

7 gfea Ffe arft -
(A 1.12% (B) 1.42%
€ 1.32% (D) 1.22%

. U@ -C-R IR & RRT & 9 100 diee
&1 gAIad! fa¥a oA war € | gRuy #
W ufErd XL = 20 3w, uiRdl
g XC = 20 W den Iy uiRy
R =5 3% | WRuy & ufdyamem anft -
(A) 15 3iH (B 5 3

(©) 45 3m (o) 20 3N
5.6 fHa dld & AWH 10c T 20 -

o€
T oM ¥ Sait & A T @
TSl BNt &, P 5 3 v O
BT AT 20°C A 100 °c TF T A
IIRHT B B | AR di 3 P
go.ogﬁ.ﬁ?ﬂﬁaﬁﬁmm

(A) 0.033
(© 0.044

(B) 0.055
(D) 0.022

I T & A it g w

ﬁm30qﬁﬂf@m%|wﬁ§w
20 PAM & A R T qrer g B
" 300 e (8) 30 =yes

© 20 <eq ) 600 =ge=y

Page: 12 T 7990



55 Two resistances combines in series order

ul

provide 50 ohm resultant resistance and when
it combines in parallel order provides 8 ohm
resultant resistance. Then the value of each
resistance.

(a) 21 ohm and 29 ohm

(8) 10 ohm and 40 ohm
(€) 20 ohm and 30 ohm
(D) 15 ohm and 35 ohm

. A spherical mirror and a thin spherical lens

each have a focal length of - 15 cm. Nature

of mirror and lens will be
(A) Both convex (B) Both concave

(C) Mirror concave and lens convex

(D) Mirror convex and lens concave

A particle is moving along a circular track of
radius 1 m with a uniform speed. The ratio of
the distance covered and the displacement in
half revolution is

A 2:x B 1:1

Q T:1

0) 7:2

A car of mass 2000 kg is moving with a velocity
of 18 km/h. Work done to stop this car is

A 25 x 10*joule® 25 x 10° joule

(@ 25 x 10%joule® 25 x 103 joule

58.

A wRm we Ao W § GEfE &
S F a 50 W WA @1 WRRY YEH
T £ T 99 I¢ GER HA W Sied
@ 8 AW & WieR™ e FRd B | 39
wferva} &1 |7F e -

(A) 21 3 3R 29 3H

8) 10 W 3R 40 3™

(© 20 3H 3R 30 IH

(©) 15 3 AR 35 I

& Ml U AR TH Gl Meild of¥
TIF P BHE U - 1545 T | T 7
o B -

(A) qHT Iddel (8) B Fader

(© Fdur Jqdd AR ofF Idd

(0) gYu Idel AR ofd JHdddl

. Uh H 1 Bew b geR ™ R U
TE 91 W I IR @ 2 | B BRI
FE FFPY A H et W O ud
frem & U 8 -
A} 2:m (8) 1:1
(C) mel (D) | R

2000 kg A T HR 18 fHEver & A7
AT W & | BR B A § B Bl
BT |

(A) 25 x 10*gw (8 25 x 10°g=

© 25 x 103 (P 25 X 10°

Page: 13
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28

£

A charge of 10 coulomb is brought from infinity
to a point P near a charged body and in this
process 200 joule of work is done. Electric
potential at point P
(A) 10V

(€ 200V

(8) 100 V
() 20V

V. Vg,V are the velocities of violet, red and

green light respectively, in a glass prism. Which
among the following is a correct relation ?

W Ve<Vo<Vy B V< V<V

@O Vi=\z=V; © Vi > Vg >V,

A stone is gently dropped from a height of
20m. If its velocity increases uniformly at the
rate of 10 m/s*. With what velocity and after |

what oime will it strike the ground ?
(A) 10m/s, 25 (8) 20 m/s, 20 s

{C) 10 m/s, 20s (D) 20 m/s, 2 s

100 gm of water at 60 °C is added to 180 gm

of water at 95 °C. The resultant temperature

of mixture is
A 825°C (8) 80 °C
€ 775°C (0) 85°C

A sound wave has z frequency of 500 Hz and

wavelength 20 cm. How long time will it take to
travel 1 km ?

(&) 2 5 seconds (8) 25 seconds

(C) 25 minutes (D) 2.5 minutes

1111

62.

% 10 PAM AEW B ITW T T TN

Iw & wiw g p dF aF F 200
ol & & wear g | g P W

fae@ fawa &m -

(A) 10 aee (8) 100 dlee

(€ 200 diee (D) 20 dree

g & B O § ST a6 ®

UHE & AT HE: Vy, Vg,V & @
fr 4 @ o9 W TR wd o

{A]’VV < VG = VR (8) V‘r < VR < VG

{C] Vv — VR - VG ‘D]Vv = VR = VG

TP YRR 20 W & $IE A ARy Srdr

g1 R & R TR @ A
105/ ® R ¥ dga1 & | 99 W

THUd T YRR F AT U4 oM OET
B

A 10 HIR, 2 Aave
() 20 H, 20 YPpve
@ 10 MM, 20 Vpoe
(@) 20 #rR, 2 Apve

60°C A9 & 100 T T FY 95¢

el 180 W UMt § fyamn wmr & a)
s &1 aRomdt a2 -

(A 825°C (8)  80°C

© 775°C ()  g5°C

£ 500 T IQRT Td g0 WM qwmded @

Qﬁﬁrﬁaﬁaﬁ1%ﬁ§ﬁmmﬁ
9 o

(A) 2.5 Apug (8) 25 FFpug
© 25 fFe 0 25 fyFe
Page: 14 =
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64

100 joule of heat is produced each second in a
4 ohm resistance. Potential difference across
the resistor

{A) 100V (8) 20V
(© 40V (D) 50V
An object 4.0 cm in size, is placed at 25 cm in

front of a concave mirror of focal length 15 cm.
At what distance from the mirror should a
screen be placed in order to obtain a sharp

image ?
(A) —375cm () —355cm
© +25cm (®P) + 255 cm

The capacitance of a capacitor is 3 pF. If 108 uC
charge is available in it, then what will be
potential difference between plates ?

(A) 224 volt (B) 24 volt

(C) 324 volt (D) 36 volt

A wooden block of mass 6 kg is pulled across a
rough surface by a 54 N force against a friction
force F. The acceleration of the block is

& m/s” then the value of friction force F is

(A) 36N

(€ 18N

(B) 54 N
(D) 9N

2 Two unlike parallel forces 2 N and 16 N act at

the ends of 2 uniform rod of 21 cm length. The
point where the resultant of these two act is at

B5.

66.

67.

68.

(&) 100 41?6 (8) 20 dree
(© 40 aee () 50 qree
U& 4.0 O ABR @I a&f Jdddl FUoT
R vdu g@f 15 AW 8, & uRE@

25.0 IM g0 W R & | <o 9 5w
R 0P &l @ IR g a1 e
afifard @7 d& 2

(A — 375 (8)  —3553H

(c) + 25 4 (0) 4+ 255 H

TS AuRA @ aiRar 3 4F ¥ | af 3o
108 ,C & G B & FERF B el
& 49 fawarax 8 -

(A) 224 dee (B) 24 dree

(€ 324 g (D) 36 drec

6 fbur s &1 TE dHSl & <@
TN §d P & fd%g 54 N §d ERT 0B
W UdE | "l a1 g | @i @
TRU /28, A G G P BT AH
BT -

(A) 36 N
© 18 N

(B) 54 N
) 9 N

a2 distance of from the greater force. R Sqd qHi qall B URUW g L
(A) 3 cm (B) 4 cm BT -
(© 1cm () 2 cm (A) 3 [ (8 4 ¥/
© 1 I (D) 2 ¥
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89 One proton enters in a magnetic field of 2500 69 T HeM 2500 QE"TW"& aref
N / Amp- m intensity with velocity of ?jﬁ?ﬂ'q & ¥ 4 X10° 52 & AT R &

4 X 10° m/sec in parallel of field, The force F TR WY @ L geE W

exerted on proton will be IRMT e 3T 79 &
W 48 x 101N (8) (45 1071°N R4g x 10710 e

(Bl0.48 x 10-10 =qeA

(O3 weq
(Plyg x 1010 =peq

© oN P) 48 x 100N

70 A body weights 75 gm in air, 51 gm when |70 1% fvg F7 zqy 4 TawE 75 gm & |
completely immersed in unknown liquid and 67 IS 59 | E[UT w0 §iﬂ=‘r W 51 gm
M when completely immersed in water. Find|  @ar gy 3 67 gm © | ISH Tq &I
the density of the unknown liquid T
(A) 3 (B) f 3 " :

3gm/cm 8gm /cm W 3em [ em? ® 8eom /cm?
@ £ P (D) |, L
6gm/cm tgm/cm “@6gm/ecm® © 4gm/em?

™ If radius of Earth shrinks by 4% and mass of | 71. afe R4T B e 49 Rigs s qor
Earth unchanged, then the value ofl oM # #1¥ uRads T8 @ oy

acceleration due to gravity will be changed by R F 99 F yRedq Hu
(A) 8% (B) 4% (A) 8o (B) 49

@ 16% (©) 2% (C) 16% (D) 2%

72 An object is placed in front of a convex lens of | 72. P 95 12 99 By ™ F Iqd o

focal length 12 cm. If the size of the real image| ¥ WMWY fg T gfr s wiifieg
formed is half the size of the object, then the PTHPR, 9 & ABR H1 oy B, a
distance of object from the lens TG 3 & T B

(A) 48 cm (8) 30 cm (A) 48 ¥ (8) 30 Wy

(©) 26 cm (0) 36 cm © 26 I (D) 36 A%

7 Magnetic flux of a 20 round coil is reduced to|73. Tg 20 W F preeh @ 9§ THEIY

2ero from 0.3 weber in one second then the TR 1 Adve § 0.3 3% & Hegy
induced e.m f. between the terminal of coil W W R A e ¥ R B g
(W) 25V 8 3v WS REE awF aa@ em.f.) & -

© 6V () 1.5V (A 2.5 dree 8) 3 dree

© 6 dree () 1.5 Qe

IR
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 SECTION - I
CHEMISTRY

Detergents are the salt of
(A) None of these

76.

(B) Carboxylic acid

(©) Carboxylic acid and Sulphonic acids or alkyl
hydrogen sulphates both

(B) Sulphonic acids or alkyl hydrogen sulphates

- An organic compound contains carbon =
38.71%, Hydrogen = 9.67% and Oxygen. The
empirical formula of the compound would be
(A) CHO (8) CH;0

(© CH,0 (®) CH,0

Which catalyst is used in oxidizing NH, in
Ostwald's process ?

(A) Pt (B) Molybdenum
(©) FeO d) V,0,
78

Which of the following order of ionic radii is
correctly represented ?

MH->H">H (B) Na™ > F~ > 0%~
(@ F >0 >Na*

(D) AI** < Mg?* < N3~

8 F,C = CF, is a monomer of
(A) Glyptol (B) Teflon
(€) Buna-S (D) Nylon-6

81 The number of molecules present in 2.8 g of

nitrogen is

(A) 6.023 x 10** (8) 6.023 x 10*°

(€ 6.023 x 10* (D) 6.023 x 10*

76.

[

79.

80.

B1.

"I - III
I IR
(Mg T ) Fraifdaferd o

(O FreifRIferd I Td TbIfe aFeT T
Ufehd FIEgIoA Gobe Sl

CIFHFF I W odd BRI
L T

W Efe T § eeT = 38.71%

TEQOH = 9.67% U IR T |
AT BT JATRR T B

(A)  CHO ()  CH,0

(©  CH,0 (®)  CH,O0

decdles Ay & sfEr ve,) ¥
dirfra= § wea 9aR® &

(&) pt (8) Hiofle s

(© FeO ) V,0,

st Brouet & g frefaeg § @
B AT TE B R 2
(AAH- >H*>H (BINa* > F~ > 0%
(QF > 0°" > Na*

(D)AI** < Mg?* < N3-

F,C = CF, 1% & -
A Raeia 1 ) A BT
© =S ) IRIeiT-6 &1

2.8 g TR ¥ vt o SuRerd wdwm
&

(A)  6.023 x 10** (8B)  6.023 x 10%

© 6023 x10% (p) 6.023 x 10%

I
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83.

&

. among the following, ionic hydride is

(A) PH; (8 BH,

(€ SiH; (®) MgH,

An example of thermosetting plastic is
(A) All of these (8) PV.C.

(€) Bakelite (D) Polythylene

. Equivalent weight of a dibasic acid is 12. Its

molecular weight is
(A) 48

(€) 24

(8) 12
(D) 6

. Real gas behaves like ideal gas at

(A) None of these (B) High temperature

(C) High pressure (D) Low temperature

- Which of the following types drugs reduces

fever ?
(A) Tranquilizers (B) Antibiotic

(O Analgesic (D) Antipyretic

Hardness of water is due to the presence of
(A) Sodium and Potassium salt

(8) Calcium and magnesium salt

(©) Lead and copper salt

() None of these

83.

85.

Frafofea 4 1 smafie TLEES © -
i | BH,

© sy, () MgH,
THRARET iRes & w6 SereRoy 2
(A) 7 af B) PV.C.

© ddarge (0) drchefi

& femias srar &1 qeaieh wr 2 & |
BT JVHR BN -
(A) 48

(Q 24

(B) 12
(D) g

s W oaRd W H wE @R
F &

W T & B T8
(®) = dUHHT W)
O I T4 w®

) 9 dHE ®

B W QO @R B B b e

It § 2
(W) giegemgori (B TNaRRe
O wHeoitis () THurRfes

- UH $ FORAT B BRI

(A) wfeTq qoT URRRM qur
(8) Hfcarw o ¥R daqur
(€ IS W DY oqu

(@) 3 ¥ P T
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88 The IUPAC name of 8. C;Hs
(l::Hs HC=C-C—CH, @ IUPAC TH g -
HC=C-C~-CH,is r';

I
H (A) 3-fRrge-1-U=eTga

(A) 3-Methyl-1-Pentyne (8) 3-frTgci-4-UreTsH

(B) 3-Methyl-4-Pentyne (©) 2-gel-2-MurgH

(©) 2-Ethyl-2-Propyne (D) 3-Rege-5-UeTed

(D) 3-Methyl-5-Pentyne

82 Electronic configuration of copper can be|8. HIYR T T{a'cﬁfﬁﬁi fama wefdfa fear
represented as ol Uddl g
W [Ar]4s'3d® (8 [Ar]4s23d°4p? (A [Ar]4st3d° () [Ar]4s?3d°4p?
(© [Ar]4s3d%°4p (0 [Ar]4s23d° (€ [Ar]4s23d'%p* (D)[Ar]4s23d°

% Essential constituent of an amalgam is %. IHTH & H&I °9h &
(A) Silver (8) an alkali metal (A) 7 (B) & & &g
(O an alkali (D) Mercury € % &ar (D) gRY

]

Amount of copper deposited on the cathode of
an electrolytic cell containing copper sulphate
solution by the passage of 2 amperes for 30
minutes — (At. mass of Cu =63.5)

(A) 0.1184 gm (8) 0.2214 gm

0 2214gm (D) 1.184 gm

PR TP A gHd Bl e smued

A § 2 UPRR H a1 30 e 99
JaIfed PR W A W IET Frw @
AT § - (BN BTG AR = 63.5)

(A) 0.1184 gm (B) 0.2214 gm

€ 2.214 gm (®) 1.184 gm
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« Inthe following reaction

§0, + 2H,S— 35+ 2H,0

() Sulphur is oxidised and Hydrogen is reduced

(8) Sulphur is both oxidised and reduced
(€) Sulphur is reduced and oxygen is oxidised

(D) Hydrogen is oxidised and Sulphur is reduced

9. Which among the following pairs are not
having same number of total electrons ?

(A P-3 and Ar (B) Mg?* and Ar

@ 02 and F~ (P) Na* and A3t
% The half life period of a radioactive element is

150 days. After 600 days 1 gm of the element
will be reduced to

(a) 15 ® 1
16 0 A
@ 1 (o) 1
16 & g
% Hydrocarbon used for welding purpose is
(A) Ethane (8) Ethene
(© Ethyne (D) Benzene

% Cracking i a process used for change in

(A)Higher molecular weight alkane to lower
molecular weight alkane

®) Alcohols to aldehydes

(©) Alkanes to aromatic hydrocarbons
) Ketones to aldehydes

| T —_

gz‘ﬁ':f&lﬁﬁa‘mﬁ

93.

95.

96.

SO: B 2H:S~———+ 3S+ 2H_-_,0

WIS slimfips w amgom e
T |
{BIWWWWWM
M T |

OB & aqgey g diRfoET &
i g & |

& 1 600 T a@ 1 gm 7@ we
ST
(A 15 ® 1
16 & 32
© 1 ® 1
T 8
IET § g ERgEET &
(A & (8) i
© gIEA (0§

Hod wfbar s § IRl @ uRaffa &
& forg

(I VMR dTd Tebd @ = SopiR
atel Qe H

(B) Tohleld d Ufecerlzs A
O TP P WD eFRPET 3§
(©) HE\ B fesergs A
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97 10.0 gm CaCO0; on heating gave 5.6 gm of Ca0 97 10,0 gm CaCO, ™ A W 5.6 gm Ca0
and 4.4 gm of C(Q., given data support the Ud 44 gm Coza?ﬂ e | faar g3l

law of - il fram @ R wwar & -

(A) Multiple proportion (A) 7T Srura (8) R I
(8) Constant proportion © gy # JRTRET &1 fFrgs

(€} Law of conservation of mass 0) ¥

(D) All of these

% In which of the compound oxidation number of 98 =1 § I fsr WMe ¥ aifmfoT & fero

oxygen is +2 ? JRABT TR BT A +2 &7
A 0. (8 Na.0. A 0, (8)  Na,0,
© K.0 © F,0 © K.0 D)  F,0

% Therate of diffusion of a gas is r and its density %9 fipef} ™ F e # <% r 9ar ST
s &, then under similar conditions of pressure U9 d ®, O UHM S U4 9T @) fRerfey

and temperature 7
W rag ® rxyd (A) recd (8) rocvd
o 1 ® 1 (c) 1 (D)

X — I o — r S r& e

c vd d Vd
% The common name of 2-Butanone is 10 2-FEHAT BT AR A g

(&) Acetone (8) Butyraldehyde (A wfeH (B) Ffrfosers
IS Acetic anhydride @ vfyfes I8 HETSIRES
IB) Ethyl Methyl Ketone O d feEd $en

i -
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